March 24, 2003


I spent about 3 hours on Saturday and 3 hours today working on my project.  I have done a great deal of testing with both one and two trains.  I also made the user interface my nicer and a bit more helpful than it was before.  I added a button, which allows the user to toggle the turnout if it is owned by the train.  When a train arrives at a photocell and it needs a turnout in order to continue going, it stops the train and waits for the turnout to be toggled.  Also, after a great deal of testing, it appears that the lights are working well.  The only glitch that it seems to run into is with the time that it takes to adjust the turnout.  Since I have the lights reset to green each time there is a change, this time spent in between states makes the lights stay green until the turnout is finished adjusting.  The major problem that I am facing at the moment is when a train gets to the photocell and becomes blocked by another train.  For some reason the lights do not change to red.  I don’t know if this has something to do with the blocked list or what it is.  I am kind of at a point where I think the wise thing is to change my logic slightly.  I might want to make the light red when a train is two photocells away rather than when it is one photocell away.  This way, it may be easier to avoid the trouble when trains slide through photocells.  I need to sit down with Dr. Pankratz and ask him if this is acceptable or what exactly I should do.

